(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: II

PROGRAMME: Bachelor of Commerce (Accounting & Finance)

1		Roll No.	Seat No.	Name		ncial unting	Auditi	•		uction siness					Voca Skil		Voca Skil		l	amenta of	Hi Bha:		Nati Ser				Total Marks		Credits Earned	SGPA	Grade
					I	I			Econ	omics	s.	- II	aı	nd	Acco	unting	Acco	unting	Peo	ple's	Kaus	halya	Sch	eme			manto				
					IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	ΙA	SEE	IA	SEE	IA	SEE					
					16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30							
	1	24074	NAF2925015	PRAJAPATI ANKUSH AKHILESH GEETA	\$16	03	\$12	\$12	\$13	01	\$15	\$20	\$15	\$12	\$14	\$12	\$14	\$12	\$13	\$12	\$10	03	\$18	\$12			239	78	14.0		F
	2	24090	NAF2925016	/ PRAJAPATI KOMAL AKHILESH GEETA	\$18	09	\$15	\$12	\$18	\$16	\$14	AB	\$17	\$19	\$15	\$16	\$14	\$22	\$14	\$13	\$10	\$12	\$17	\$17			288	102	16.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: II

PROGRAMME: Bachelor of Commerce (Accounting & Finance)

		Roll	Seat No.	Name			Audit	ing - II	Introd							itional								luction			Total	Sum	Credits	SGPA	Grade
	0.	No.			Acco	unting II				siness omics		ematic - II		sues nd	_	lls in unting		lls in	_		Kausl	•		ports, sical			Marks	CG	Earned		
					I۸	SEE	I۸	SEE		SEE	_			SEE		SEE					<u>'</u>	SEE		SEE	IΛ	SEE					
						24/60		12/30								12/30										SEE					
	3	24065	NAF2925001	/ BORMALE SHALINI KHANDU ASHA	\$22	10	\$13	\$12	\$10	\$13	\$15	\$15	\$15	\$16	\$18	\$12	\$13	\$12	\$12	12	\$10	\$12	\$18	\$25			285	104	18.0		F
	4	24069	NAF2925007	GAVALI ROHAN VIJAY PALLAVI	\$20	\$24	\$14	\$17	\$12	\$17	\$14	\$13	\$17	\$22	\$20	\$16	\$16	\$18	\$13	\$12	\$16	\$18	18	20			337	138	22.0	6.27	B+
	5	24070	NAF2925011	KADAM CHETAN VIJAY VAISHALI	\$19	\$26	\$14	\$12	\$11	\$13	\$13	\$15	\$19	19	\$16	\$16	\$14	\$14	\$15	\$12	\$13	\$12	18	20			311	124	22.0	5.64	В
	6	24068	NAF2925018	SAWALE RAVI SUNIL MANISHA	\$18	\$24	\$14	12	\$10	\$13	\$15	\$15	\$14	\$18	\$16	\$12	\$14	12	\$13	06	\$16	\$16	16	21			295	114	20.0		F
	7	24107	NAF2925030	JADHAV SAHIL HARESH SANJIVANI	\$23	24	\$14	\$13	\$14	20	\$14	\$15	\$16	\$13	\$15	\$12	\$16	\$12	\$13	\$12	\$16	\$14	\$18	\$25			319	128	22.0	5.82	В
	8	24086	NAF2925032	DINDURE NARENDRA NAGESH SUNITA	\$16	00	\$12	12	\$10	03	\$12	AB	\$10	\$15	\$15	\$12	\$14	\$14	\$12	\$12	\$10	\$12	AB	AB			191	56	12.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: II

PROGRAMME: Bachelor of Commerce (Accounting & Finance)

Sr No		Seat No.	Name		incial unting	Audit	ing - II		luction siness				onment sues		tional Is in		ational lls in	Funda	menta of		ndi sha -	Exter Wor			Total Marks	Sum CG	Credits Earned	SGPA	Grade
					II			Econ	omics	s	- 11	aı	nd	Acco	unting	Acco	unting	Peo	ple's	Kaus	halya				Marks	CG	Lamou		
				IA	SEE		SEE		SEE						SEE									SEE					1 1
				16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30						
	2407	2 NAF2925005	/ DOLAS MALVI ASHOK SONAL	\$19	14	\$12	\$12	\$11	\$14	\$10	\$13	\$15	\$23	\$10	\$17	\$14	\$13	\$14	\$18	\$12	12	\$16	\$15		284	98	18.0		F
1	2404	4 NAF2925009	/ JANGAM PREETI KANTARAJ MARIAMMA	\$18	32	\$14	\$20	\$14	\$17	\$14	\$22	\$15	\$20	\$15	\$12	\$16	\$20	\$15	\$27	\$12	\$12	\$17	\$19		351	148	22.0	6.73	B+
1	1 2402	1	KONAR M KANNAN MUTHU MUTHUMARI	\$16	10	\$12	\$12	\$11	\$12	\$15	\$15	\$14	\$12	\$16	\$12	\$14	\$12	\$13	\$12	\$10	12	\$17	\$12		259	92	18.0		F
1	2 2410	0 NAF2925028	BASOR AMAN AMIT BHARTI	\$24	\$29	\$12	\$12	\$13	\$13	\$13	\$15	\$14	\$17	\$14	\$13	\$14	\$12	\$13	13	\$12	\$24	\$16	\$12		305	122	22.0	5.55	В
1	3 2411	4 NAF2925033	SHAIKH ZAMIR SAMIR REHANA	\$24	\$24	\$15	\$13	\$12	\$12	\$16	\$16	\$13	\$13	\$15	16	\$14	\$12	\$14	\$12	\$12	12	\$17	\$17		299	116	22.0	5.27	С
1	4 2408	7 NAF2925038	/ BANSODE YASHSWI BABA INDUMATI	\$22	\$24	\$15	\$17	\$13	\$16	\$10	\$12	\$13	\$22	\$10	\$23	\$17	\$14	\$15	\$16	\$14	\$23	\$16	12		324	136	22.0	6.18	B+

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater SEMESTER : II

PROGRAMME: Bachelor of Commerce (Accounting & Finance)

Sr. No.	Roll No.	Seat No.	Name	Fina Accor	ncial unting I	Audit	ing - II	to Bu	luction siness omics			al Is	onment sues nd	Ski	itional lls in unting	Skil	itional Is in unting	1	of	Kausł		Exter Wor				Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA 16/40	SEE 24/60	IA 8/20	SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30	IA	SEE					
15	24104	NAF2925004	/ DIKE PAYAL PANDURANG SARIKA	\$22	28	\$13	\$13	\$14	\$13	\$16	\$16	\$16	\$22	\$17	\$12	\$14	\$12	\$16	\$18	\$17	\$18	\$16	\$16			329	136	22.0	6.18	B+
16	24071	NAF2925006	/ GAGADE TANISHA MANOJ JAYSHREE	\$18	12	\$14	12	\$13	\$12	\$15	12	\$17	\$12	\$16	\$12	\$14	\$12	\$13	\$12	\$14	06	\$16	\$12			264	86	16.0		F
17	24057	NAF2925008	GOUND DEVA MUKESH VIMALADEVI	\$17	\$26	\$16	12	\$11	\$13	\$13	\$20	\$15	\$13	\$17	12	\$16	\$13	\$12	\$12	\$13	AB	\$16	\$15			282	108	20.0		F
18	24052	NAF2925010	KACHVAI PAYAL AVINASH GEETA	\$19	32	\$14	\$15	\$12	\$12	\$16	\$18	\$17	\$13	\$18	12	\$15	\$19	\$13	\$12	\$12	\$12	\$17	\$14			312	128	22.0	5.82	В
19	24037	NAF2925013	PARMAR YASH GOVIND SANGITA	\$24	28	\$12	\$12	\$15	\$12	\$16	\$15	\$17	\$21	\$16	12	\$15	\$23	\$15	\$12	\$15	\$15	\$16	\$14			325	134	22.0	6.09	B+
20	24017	NAF2925014	PATIL YASH MOHAN JYOTI	\$26	24	\$16	\$12	\$14	\$16	\$12	\$25	\$15	\$21	\$14	\$19	\$14	\$23	\$15	\$20	\$16	\$14	\$16	\$19			351	154	22.0	7.00	Α
21	24054	NAF2925019	/ SHINDE PRIYA SANTOSH SAKSHI	\$20	26	\$14	\$12	\$11	\$15	\$15	\$25	\$15	\$22	\$18	\$14	\$16	\$16	\$13	\$14	\$15	\$16	\$16	\$18			331	136	22.0	6.18	B+
22	24051	NAF2925021	/ SONAWANE ROHINI RAVINDRA SAVITA	\$19	14	\$15	\$14	\$13	\$12	\$16	\$15	\$17	\$12	\$17	06	\$16	\$12	\$13	\$12	\$17	\$16	\$16	\$12			284	96	16.0		F
23	24014	NAF2925022	THAKRE DEVENDRA BALU MANUBAI	\$21	\$30	\$15	14	\$15	\$12	\$15	\$16	\$16	\$12	\$17	\$12	\$16	19	\$15	\$12	\$13	\$18	\$16	\$12			316	132	22.0	6.00	B+
24	24066	NAF2925023	UNNIBHAVI RAGHAVENDRA IRAPPA RENUKA	\$16	\$24	\$14	AB	\$11	\$12	\$15	\$16	\$13	\$16	\$16	\$12	\$13	\$12	\$13	\$12	\$10	12	\$17	\$14			268	104	20.0		F
25	24053	NAF2925024	/ GAIKWAD METHALI PRAKASH PORNIMA	\$17	24	\$15	\$12	\$12	\$12	\$15	\$25	\$16	\$17	\$18	\$12	\$17	\$15	\$14	\$14	\$14	\$13	\$17	\$14			313	130	22.0	5.91	В
26	24058	NAF2925025	/ GAIKWAD MANSHVI MANOJ SHREEDEVI	\$17	06	\$16	\$12	\$11	\$12	\$13	\$15	\$15	\$20	\$20	12	\$15	\$12	\$13	\$12	\$16	\$12	\$16	\$12			277	106	18.0		F
27	24056	NAF2925026	SHELAR MANISH GANESH DROPADI	\$17	\$32	\$14	\$13	\$10	\$14	\$17	\$30	\$13	\$17	\$17	21	\$15	\$12	\$14	\$12	\$13	\$12	\$17	\$14			324	128	22.0	5.82	В
28	24077	NAF2925027	FULORE YASHWANT PANDIT BEBI	\$18	\$24	\$15	13	\$11	\$12	\$14	\$25	\$13	\$13	\$20	\$18	\$15	\$17	\$14	\$12	\$15	\$13	\$17	\$14			313	128	22.0	5.82	В
29	24106	NAF2925029	PITALE SUJAL SUNIL SUNITA	\$23	24	\$14	\$17	\$15	\$14	\$15	\$12	\$15	\$24	\$15	\$12	\$16	\$13	\$12	\$12	\$15	\$15	\$16	\$19			318	128	22.0	5.82	В
30	24120	NAF2925031	/ TIDEKAR MUSKAN VIKAS JYOTI	\$17	07	\$15	\$13	\$12	\$12	\$12	\$15	\$17	\$12	\$15	\$12	\$14	\$13	\$12	\$12	\$15	\$14	\$16	\$15			270	96	18.0		F
31	24048	NAF2925035	KALE SUMIT DATTA SUREKHA	\$25	AB	\$14	\$12	\$11	\$12	\$14	\$12	\$16	\$13	\$16	\$15	\$14	\$12	\$14	\$13	\$15	\$14	\$16	\$12			270	98	18.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

$Result\ Register\ {\tiny (A.T.K.T.\ Exam.)}$

Repeater SEMESTER: II

PROGRAMME: Bachelor of Commerce (Accounting & Finance)

Sr.		Seat No.	Name	Finar		Audit	ing - II										ational					Nati				Total	Sum	Credits	SGPA	Grade
No.	No.			Accou	ınting				siness omics			al Is aı		Skil			lls in unting				nalya -					Marks	CG	Earned		
				- 11	l			ECOII	OHICS	5	- 11	aı	ilu	ACCO	unung	ACCO	unung	rec	ppie s	i (Nai	yalayill	SCH	eme							
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	ΙA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE					
				16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30							
32	24111	NAF2925037	BHADANGE SIDDHANT SHRIKANT	\$18	AB	\$11	\$12	\$10	\$12	\$13	20	\$14	\$12	\$14	\$12	\$13	04	\$11	\$12	\$10	12	\$17	\$12			239	78	16.0		F
			ROHINI																											

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater SEMESTER : II

PROGRAMME: Bachelor of Commerce (Accounting & Finance)

Sr.	Ro	i ocaliso	Name		ancial unting	l	_		uction siness					Voca Skil			itional Is in		amenta of	Hir Bhas		Found 8	dation		Total Marks		Credits Earned		Grade
					II				omics			aı		Acco	unting	Acco	unting	Ped	ple's	Kaus	halya	Explo	ration		Marks	CG	Lamou		
					SEE		SEE		SEE										SEE					SEE					
				16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30						
33	3 240	78 NAF2925036	/ GUDARIYA KIRTI MAHESHKUMAR BABITA	\$24	\$24	\$16	16	\$14	\$14	\$16	\$15	\$17	\$18	\$15	\$15	\$16	\$19	\$13	\$15	\$13	\$13	\$17	\$18		328	140	22.0	6.36	B+

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater SEMESTER : II

PROGRAMME: Bachelor of Commerce (Accounting & Finance)

1		Roll No.	Seat No.	Name	Fina Accou	ncial unting I		•	to Bu	uction siness omics	Mathe	ematic		sues	Skil	ls in	Ski	ational Ils in ounting	ls	of	Bhas		Introd to Sp Phys	orts,			Total Marks		Credits Earned	l .	Grade
					IA	SEE	IA	SEE	IA	SEE	IA	SEE	ΙA	SEE	IA	SEE	ΙA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE					
					16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30							
	34	24083	NAF2925003	/ DHOTRE SIMRAN RAJU SUJATA	\$26	\$24	\$14	12	\$13	\$12	\$17	\$18	\$17	\$23	\$16	\$12	\$15	\$12	\$15	\$16	\$8	12	\$18	\$25			325	136	22.0	6.18	B+
	35	24046	NAF2925020	SINGH ANSHUMAN RAHUL GAURI	\$25	\$35	\$18	\$15	\$14	\$15	\$19	\$17	\$18	\$22	\$20	19	\$18	\$15	\$17	13	\$10	\$12	\$18	\$25			365	158	22.0	7.18	Α
	36	24022	NAF2925034	WADEKAR SIDDHARTH RAVINDRA	\$16	AB	\$14	\$12	\$10	\$12	\$10	\$18	\$10	\$15	\$10	\$12	\$20	14	\$10	12	\$14	\$12	AB	AB			221	80	16.0		F
				ASHA																											

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater

F	RO	GRA	MME:Bach	elor of Commerce (Accounting & I	Finan	ce)								EXA	MIN	ATIO	N : S	eptem	ıber -	2025	5						SE	MEST	ER: I	1
S No		Roll No.	Seat No.	Name		ncial unting I	l	-	to Bu	luction siness omics	Mathe		al Is		Ski	lls in	Ski	ational ills in ounting	ls	of	Kausl	nalya -		dation & oration		Total Marks		Credits Earned	SGPA	Grade
						SEE	IA	SEE				SEE						SEE		SEE				SEE	SEE					
					16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30						
3	37 24	4101	NAF2925002	/ CHAVHAN AKSHARA BALKRUSHANA VAISHALI	\$25	11	\$13	\$12	\$16	\$13	\$17	\$22	\$16	\$19	\$13	\$15	\$14	\$12	\$14	\$13	\$18	\$19	\$17	\$14		313	116	18.0		F
3	8 24	4035	NAF2925017	/ SALVE SUJATA LIMBAJI MEERA	\$22	12	\$15	\$12	\$15	\$16	\$15	\$20	\$14	\$22	\$17	\$13	\$14	\$13	\$14	\$12	\$17	\$17	\$17	\$14		311	118	18.0		F